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O =284 JHIA
127,000,000 +0.72/100 915
CREAFASEAMUEFEI(EX) 13,800 13,500 300
== 5,960
Al 7,840
401 AIEHIZ R HYI 13,800 13,500 300
< 5,960
Al 7,840
01 Al&H| 13,800 13,500 300
O = EH S dXIAY
9,800,000 %14 9,800
= 1,960
Al 7,840
O =N EHS T 22| AE ZAME
4,000,000 * 14 4,000
< 4,000
CEHFA JEALAE 2N 39,173 18,616 20,557
308 AFAIEHMSOIE 39,173 18,616 20,557
11 S| 2SO0 ZB XA AIE 39,173 18,616 20,557
O =AZE2ANAAE 2= & KRX22IA
o 39, 173,000& * 14! 39,173
CREFA AT N A 39,103 14,890 24,213
308 XHXIEMSO0IH 39,103 14,890 24,213
11 SIS0t oA A A 39,103 14,890 24,213
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